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(RE+0 5, #3FE)
¢ 110 GLAY) X 110em  FEHRZE (14F) 5t ;

WEEEA 1 =X
GRE)
2t A (RHIMERERY) JEAMT ;

WEEEA 1 =X
()
2t F (BWITERERD) JEAM

EEWRAT T = 502, 090 | {3 FHEVIVIR At 230 m2
EEB (484) 100m2LL_E250m2 AT VAR TSRS
FEOMIER ;
rAnIHEA L = 1 13,508, 673 |EkAHTRA L (B/HHER) 1 X

D19 (SD345) ;

HilFL 3 m
TEEHFX ¢90mm 27—} ;

HIJFL 287 m
Z“EEFHKX ¢90mm VIE T ;

HIJFL 38 m
ZEEFA ¢90mm T ;

I ZECIUN 30 N
2.0mLLF

I ZECIUN 30 i
2. 0m#B3. OmLL T

I ZECIUN 23 i
3. OmiEB4. OmLL T ;

I ZECIUN 22 i
4. Om#BS. OmLL T

VANUIRE DN 3 m3

-5 - E+z5@a SN R




THE4 | ROEEXEEIR JIFHIXHET (£024) TH

TEHX4y « Tfd - FER B Az W B & #A i il A R

BRI e 105 N

HIFLEE [ VA Y-ty b 1 =

HIFLBEHR AT - s 1 F2V
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[ERAE Xy = 1 136, 246, 101
HiE R 2 1 18, 799, 000
BISTIGE: = 1 1, 234, 000
BGRESGESE (5 L) = 1 1, 234, 000
B (FEHL) = 1 17, 565, 000
T = 1 155, 045, 101
Bl gy 2 1 57, 315, 000
T =5l = 1 212, 360, 101
— R A 2 1 32, 939, 899
TS 2 1 245, 300, 000
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